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| pachelor of Computey Application (BCA) 1 Semester
\PPLIED AND DISCRE 1y MATHEMATICS
Paper—yy
Tix Allowed=—3 Hours] [Maximum Marks". 75
Mot 1— Atempt any five questions b}%qlccting at least one
trom each Section. The ﬁﬂ%&q@tion may be attempted
from any Section. NS
SEC N—A
2 LetA=[l,2 34,5 6] and B=[2, 4, 6, 8]; show
that A-B #B - A
hlA = (1, 2,3, 4, 51, B =11, 3, 5. 7. 9] and
C =2, 4,8, 10
verify Am (Bu ) = (AN B) U (A~ Q).
¢} In aclass of 25 students, 12 have (aken Feonomics.
8 have taken Economics but noy History. Find the
number of students wWho have take, F conomics and
History and those who NaVe takey, History but not

Economics. 545+5
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(a)

. 2, 3] B=1[2,3,4] C=1[4, 5] vey,
Let A (A * B) m (A = Q). )

A - IH‘”“-

Defing
1) Reflexive relation

aric relation _
(n) H_\-mmLer i i

iy Transitive relation

(iv) Anti-symmetric relation

() Intersection of two sets. 7.5+473
SECTION—B

Prove the validity of following arguments with trui

table 'if man is bachelor, he is unhappy’, 'if man is

unhappy, he dies young'. Therefore bachelor die young

(b) Provethat (p » QA (@ >1) =(p —> q =
tautology. 7.5+7.3
% (@ Show that [pv (q A 1)] = (p v QA (pvr)ar
logically equivalent using truth table.
(b) Define -
“J Conjunction connector
["3' l)'-‘ijllm:liun connector
{lm} XOR Connector
™) Conditiongy connector
(v i .
) Biconditional connector, with help of truth table.
““““lmmqm 7.5+7.5
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Crion—-C
@  [xXY)z) ey *’JE 10

y' 4 27y, Reduce to DN form
) Show thag X7
is prime ||nl‘l|ll ant of
v -+ Xyz' ‘-"(}’l' 7547 %
6 (@) Show that (4 By (A + €)= AC + AR,
l]\) I{A. B, (") = zn'l({]., 3. 5, b, ?} i d(?, 4]

(¢) Define Fundamenygl product with example 5 £5+5

SE(,'II()N——D
1 0 2 K&Q
7@ If A=|0 2 1 @wm 6AZL TA + 21 = 0.
Q
% 1 3 3
(b) Find inverse of matrix A=|1 4 3. 7.5+47.5
1 3 4
4 2 }
8. (a) Find rank of matrix A=|8 5 2}
12 -4 5

(b) Express the given matrix as sum of symmetric and

4 2 -3
Skcw-symmcu-:cmu“ixe\ I 3 -6].
5 0 =7
7.5+T.5
3 7000
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